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int i =25;
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int n =3;

int size =n* n;
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float £ =3.2;
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L5 3-41 5 XA FAFE 5. IR hello world!”.
string s="hello world!";
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{string} Tasks={ "masonry"," carpentry"," plumbing"," ceiling", " roofing", "

painting", "windows", "facade", "garden","moving"};

int Duration[Tasks]:[10,4,6,3,6,3,2,5,6,7];
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boolean flag=true;
if (flag==true)
{
B Lo
}
else
{
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range IX i) = X i) F B .. ] I

(51371 & L—A X & s Rows, fARBEIX [B][1,10],
range Rows =1..10;
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int n =8;

range Rows =n+1..2*% n+1;
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range R =1..100;
int A[R];
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range R =1..100;
forall(i in R) { FA¥{A ... }
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range R =1..100;

dvar int i in R;
() FHIE 4. 17D R T SCIF R R e s A8 o 0 BRU(E Y 1
(5] 3-12] & X— A AEX I [1. 0,100, 0 AF Mok sk As & « 1Y BUE TG Rl .

range float X=1.0..100.0;

dvar float x in X;
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(6] 3-13]1 & WAL setlnt,

{int} setInt =...;
(5] 3-14) & X5/ IRZEHH Precedence IS

setof (Precedence) precedences =...;
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[ 3-15) #iEfLE S Week H"Mon", "Tu", "Wed", "Thu", "Fri", "Sat",

"Sun"c
{string} Week={"Mon", "Tu", "Wed", "Thu", "Fri", "Sat", "Sun"};

fili I asSet P E o KO IX (] B 0 46 L 4R 5
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{int} s=asSet (1..10) ;

s BRI A {1.2,..,10}, asSet HIBE &K range BUHE 5 W hy B2 & Hd .
(61 3-17) wiarfb&ES s Hil1,4,7,10},

{int} s={i| 1 in 10:1 mod 3==1};
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{int} a=...;
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a={10, 20, 30, 40, 50, 60};
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tuple shift{
string ID;
int hour;
int minute;

}

{shift} Shifts=-;
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DBConnection db ("access", "bus.accdb") ;

Shifts from DBRead (db, "select ID,hour,minute from KRAEWZ R ;
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tuple adj
{
int o;
int d;
float dist;
}

{adj}connectionstmp=...;
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SheetConnection sheet ("cumcm2011B.x1s") ;

connectionstmp from SheetRead (sheet, " "4 T 253 FI [ 4L ' 1A2:B929") ;
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int a[1..4] =[10, 20, 30, 40];
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float £[5..8] =[1.2, 2.3, 3.4, 4.5];
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"Wednesday" ,

string d[1..2] =["Monday", "Wednesday"];

(5 3-241 & X —DERH o BHITLEAEN a "Mon" ]=10.....a[ "Sun" ]=70,
HJEE L— TS Week:

{string} Week={"Mon", "Tu", "Wed", "Thu", "Fri", "Sat", "Sun"};



